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4/7~8|5/12~13{6/2~3[7/7~8[8/4~5|9/1~2|10/6~7|11/2~5|12/1~2|1/5~6|2/2~3[3/2~3 IR T R
1 |727Vmr=KrUL w g/m® [€0.014(<0. 014 (0. 028 |0.020 | 0.028 0.014 [0.004f - 2
2 |k =1 ~— | pg/m*|0.025]0.029 | 0.034 [<0.025]<0. 025 0.025[0.007] - 10
R A=0=F: VI wg/m’] 0.18 10.22 [0.18 |0.20 [o0.26 0.013 [0.004] - 18
4 (L, 2-vr7uauxgr | g/m*l0.24 [0.26 |0.096 [0.20 |0.073 0.014 [0.004] - 1.6
5 |vrmmRrH s pe/ml L1 | L1 [o69 [ 1.1 [0.85 0.019 [ 0.006 || 150 -
6 [7hFr7muzFLo| g/m] 0.17 | 0.30 |0.056 | 0.080 |<0.048 0.048 [ 0.014| 200 -
7|V Zmv=F Ly | 4g/m®|0.063 | 0.11 0.043 |0.023 [0.090 0.017 [ 0.005 || 130 -
8 [I,3-7xvx=yr wg/m*]0.049 10.037 [0.073 |0.049 [ 0.052 0.015 [ 0.005 - 2.5
9 [NrEr wg/m°]0.67 ]0.63 [0.99 |0.55 |0.51 0.024 [0.007] 3 -
10 [=> 7 ng/m® | <2 <2 <2 <2 <2 2 0.8 - 25
11 (7 e A ng/m* | <5 <5 <5 <5 <5 5 2 - -
12|78 7T RN wg/m’| <0.5 [ <0.5 07 [10 |15 0.5 | 0.2 - 120
13 [RVAT LT e R weg/m’] 0.5 ] <0.5 07 |12 |17 0.5 | 0.03 | - -
14 |k A F v weg/m’| 14 [ 19 [16 |16 |15 0.017 | 0.005|[ - 94
15 [ hrzy wg/m’] 23 |16 [ L6 |26 |22 0.022 [0.007] - -
16 [B 3% ng/m* | 0.4 | <0.2 ] <02 0.4 |05 0.2 |0.08| - 6
17 [7KER ng/m’| 1.7 | L7 | L3 | L6 | L5 0.19 | 0.06 || - 40
18 [ H ng/m* | <10 | <10 | <10 | <10 | <10 10 3 - 140
19 |Bfb=F 1> wg/m*]0.050 [0.059 [0.068 [0.067 [0.050 0.0068/0. 0020[ - -
20 |XY U7 A ng/m® | <0.4 | <0.4 | <0.4 | <0.4 | <0.4 0.4 | 0.1 - -
21 [N vlalEL v ng/m® | 0.14 0.016 0.017 |0.0074 | 0.016 0.0040(0.0012) - -
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1/7~8|5/12~13[6/2~3|7/7~8[8/4~5|9/1~2|10/6~7|11/4~5| 12/1~2| 1/5~6|2/2~3|3/2~ 3| 10/6~7|| T FRAE] T KRS
1 |7270Va=r)L u g/m° [<0.014]0.015 [0.022 |0.037 0. 050 0.014 [0.004] - 2
2 |k =1/ ~— | pg/m’|0.025] 0.036 |<0.025[0.038 | 0.10 0.025[0.007] - 10
R PA=0=F VW weg/m’] 0.19 10.34 [0.14 Jo0.20 [o0.26 0.013 [0.004] - 18
4 (1,2-Y2r7uvvxgr | yg/mlo.33 [0.26 0.088 [0.20 |0.071 0.014 [0.004] - 1.6
L A=0= 8 we/m| L3 | L2 [o6r [ 11 | Lo 0.019 [ 0.006 || 150 -
6 |[FhFr7muxzFro| pg/mlo 052 |0.089 |<0.048<0. 048]<0. 048 0.048 [ 0.014| 200 -
7T rVZuvuF Ly | pg/m®|0.033]0.15 [0.052 [0.061 | 0.11 0.017 [ 0.005 | 130 -
8 |I,3-74vx wg/m’]0.041 ]0.064 [0.064 |0.097 |o0.12 0.015 [ 0.005] - 2.5
9 |[Nv¥r weg/m’]0.67 ]0.83 [0.53 |0.65 [ 1.0 0.024 [0.007] 3 -
10 [=y s ng/m’ | < <2 <2 <2 <2 2 0.8 - 25
IR =N ng/m’ | < <5 <5 <5 <5 5 2 - -
12|78 b7 VTR peg/m’] 0.5 06 [0.7 | 1.1 |16 0.5 | 0.2 - 120
13 |AVvsTATe R peg/m’] 0.5 0.5 [0.7 | 1.4 |17 0.5 | 0.03 - -
14 ATV pe/m | L5 | L7 [ 14 [L9 | 2.6 0.017 [ 0.005 [ - 94
R B 2 we/m’| L6 |26 [27 |44 |29 0.022 [0.007) - -
16 [& 3% ng/m* | 0.4 | <0.2] <0203 |o086 0.2 |o0.08| - 6
17 [k ng/m>| 1.9 | L9 | L4 | L6 | L4 0.19 | 0.06 || - 40
18 |~ ng/m® | <10 | <10 | <0 | <10 | <10 10 3 - 140
19 |Bfb=F 1 wg/m*]0.071 J0.064 [0.070 0.070 |0.021 0.0068(0. 0020]| - -
20 |XU U 7L ng/m® | <0.4 | <0.4 | <0.4 | <0.4 | <0.4 0.4 | 0.1 - -
21 [Ny Y lalE Ly ng/m® | 0.11 [0.024 ]0.019 [0.0077 |0.019 0.0040(0. 0012) - -
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